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MODEL QUESTIONS

Directions(Q.No. 1 - 5): Study the
following information carefully and
answer the given questions.

Six persons P, Q, R, S, T and U stay on
different floors of a six storey building
(ground floor is numbered as floor 1 and top
floor is numbered as floor 6). Each of them
is specialized in different subjects, viz
Marketing, Finance, Chemistry, Accounts,
Journalism and Physics. The person
specialized in Physics stays either on floor 1
or on floor 4. S is specialized in Chemistry
but stays neither on floor 2 nor on floor 5. Q
is neither specialized in Accounts nor in
Journalism but stays on floor 6. The person
specialized in Journalism doesn't stay below
the floor of the person who is specialized in
Accounts but stays below the floor of the
Finance. T doesn't stay on an odd-numbered
floor. P, who stays on floor 4, is either
specialized in Journalism or in Accounts.
Either R or U is specialized in Finance.
1. If U stays on floor 1, what is the

profession of R?
1) Chemistry 2) Finance 3) Physics
4) Accounts 5) Can't be determined

2. Person specialized in which subject
stays on floor 3?
1) Finance 2) Chemistry
3) Marketing 4) Accounts 5) Physics

3. Which of the following combinations is
definitely true?
1) R - Physics - Floor 1
2) S - Chemistry - Floor 5
3) T - Accounts - Floor 2
4) U - Finance - Floor 5
5) None of these

4. Which of the following combinations is
definitely false?
1) P - Journalism - Floor 2
2) Q - Marketing - Floor 6
3) T - Accounts - Floor 2
4) S - Chemistry - Floor 3
5) None of these

5. If the person specialized in Journalism

stays on Floor 2, then in which floor will
the person specialized in Finance stay on?
1) 1  2) 5  3) 4  4) 6  5) Can't say exactly
Directions (Q. No. 6 - 10): In these qu-

estions, the relationship between different
elements is shown in the statements. Give
answer: 

1) If only conclusion I follows
2) If only conclusion II follows 
3) If either conclusion I or II follows
4) If neither conclusion I nor II follows
5) If both conclusion I and II follow

6. Statements:
N < M > P, S ≤ N, O ≤ P
Conclusion:
I) P < N
II) O = S

7. Statements:
H > M ≥ P ≤ S, Q
< P, M < J
Conclusion:
I) J > H II) M ≥ Q

8. Statements:
D = E ≥ C < M, A > D
Conclusion:
I) A > C II) E < M

9. Statements:
W > Y ≥ Z, P = W, P ≤ X
Conclusion:
I) W > Z II) X > Y

10. Statements:
Q ≤ L < D, Q ≥ N, P = N
Conclusion:
I) P = Q II) D < N
Directions (Q. No. 11 - 15): Study the

following information carefully and answ-
er the given questions.

A word arrangement machine   when
given an input line of words rearranges them
following a particular rule. The following is
an illustration of input and rearrangement.

Input: care ant light one wall ink
umbrella tape pot ear
Step I: umbrella care ant light one ink
tape pot ear wall
Step II: umbrella one care ant light ink
pot ear tape wall
Step III: umbrella one ink care ant light

ear pot tape wall
Step IV: umbrella one ink ear care ant
light pot tape wall
Step V: umbrella one ink ear ant care
light pot tape wall
Step V is the last step.
As per the rules followed in the above
steps, find out in each of the following
questions the appropriate step for the
given input.
Input for the questions:
Input: king ape hat under yeast omega
sweet island east zodiac dimple

11. Which of the following will be the last
step of the rearrangement?
1) IV 2) V 3) VI
4) VII 5) None of these

12. In step IV, which of the following
words would be at 6th position from the
right?
1) ape 2) dimple 3) hat
4) king 5) None of these

13. Which of the following is step III of the
rearrangement?
1) under omega island east ape hat

dimple king sweet yeast zodiac
2) under omega king ape hat sweet

island east dimple yeast zodiac
3) under omega island king ape hat east

dimple sweet yeast zodiac
4) under island omega east king ape hat

dimple sweet yeast zodiac
5) None of these

14. In step IV of the rearrangement, if
'dimple' is related to 'ape' and 'king' is
related to 'hat' in a certain way, which of
the following would 'ape' be related to,
following the same pattern?
1) island 2) east 3) dimple 
4) sweet 5) None of these

15. Following pairs follow a certain relatio-
nship in step IV and step V. First element
of the pair is from step IV and second
element is from step V. Which of the fol-
lowing pairs is different from the others?
1) ape, east 2) king, hat
3) island, omega 4) yeast, zodiac
5) All are same

ANSWERS WITH
EXPLANATION

(Q. No. 1 - 5)
Person Profession Floor

Q Marketing 6
R/U Finance 5
P Journalism 4
S Chemistry 3
T Accounts 2
U/R Physics 1

1) If U stays on floor 1, R will
stay on floor 5 and then he will
be the Finance by profession.

Ans: 2
2) 2; 3) 3; 4) 1;
5) According to the given condi-

tion, the person specialized in
Journalism must stay below the
floor of the person specialized
in Finance. So, even if the per-
son specialized in Journalism
stays on floor 2, the condition

is not violated. Therefore, the
person specialized in Finance
keeps on staying on floor 5, i.e.
his original position. Ans: 2

6) P and N cannot be compared.
Similarly O and S cannot be
compared. Ans: 4

7) H > M < J
Hence, H and J cannot be
compared.
M ≥ P > Q
M > Q. Hence, Conclusion II
is not true. Ans: 4

8) A > D = E ≥ C
Hence, A > C. So, conclusion I
is true. E and M cannot be co-
mpared. So, conclusion II is
not true. Ans: 1

9) W > Y ≥ Z
Hence, W > Z. Conclusion I is true.
X ≥ P = W > Y
Hence, X > Y. Conclusion II is

also true. Ans: 5
10) Q ≥ N = P

Hence, conclusion I is not true.
D > L ≥ Q ≥ N
Hence, conclusion II is not
true. Ans: 4

(Q. No. 11 - 15):
The machine rearranges the wo-
rds starting with vowel in reve-
rse alphabetical order and words
starting with consonant also in
reverse alphabetical order. 
In each step one word starting
with vowel gets arranged in
reverse alphabetical order from
left end towards right end,
whereas one word starting with
consonant gets arranged from
right end towards left end. This
process is repeated till the final
arrangement.
Input: king ape hat under

yeast omega sweet island east
zodiac dimple
Step I: under king ape hat
yeast omega sweet island east
dimple zodiac
Step II: under omega king ape
hat sweet island east dimple
yeast zodiac
Step III: under omega island
king ape hat east dimple sweet
yeast zodiac
Step IV: under omega island
east ape hat dimple king sweet
yeast zodiac
Step V: under omega island
east ape dimple hat king sweet
yeast zodiac

11) 2; 12) 3; 13) 3; 14) 1;
15) Except option (4) in all other

options, pairs are as (n + 1)th

element of step IV and nth ele-
ment of step V. Ans: 4
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QNo.

Booklet Code
QNo.

Booklet Code
WW XX   YY ZZ

91 2 4 1 4
92 2 2 2 2
93 1 3 1 1
94 4 3 4 2
95 3 1 4 1
96 2 3 3 4
97 2 4 1 3
98 2 3 2 4
99 1 1 1 2
100 1 1 3 2
101 1 3 2 1
102 3 2 1 1
103 2 2 4 1
104 2 3 4 4
105 2 4 2 1
106 1 2 3 4
107 1 2 2 4
108 4 1 1 1
109 2 1 2 1
110 2 3 4 4
111 4 3 3 4
112 3 2 1 1
113 3 4 3 1
114 3 3 2 2
115 3 4 1 2
116 4 3 3 4
117 3 2 1 1
118 2 1 1 1
119 1 2 1 3
120 2 4 1 1
121 3 4 4 2
122 2 3 3 1
123 3 3 4 3
124 3 3 4 3
125 3 2 4 1
126 4 3 4 4
127 4 2 4 4
128 2 2 4 1
129 1 3 2 2
130 3 3 4 4
131 2 2 4 4
132 1 2 2 3
133 4 3 4 3
134 3 3 3 1
135 3 4 4 1
136 1 3 2 3
137 1 1 1 1
138 2 2 3 4
139 3 1 1 2
140 1 4 4 2
141 1 1 1 1
142 4 3 4 3
143 4 2 2 2
144 2 4 3 2
145 2 2 2 1
146 1 1 2  3&4
147 3 4 1 2
148 2 2 1 3
149 3 4 1 2
150 2 4 2 4
151 1 4 1 2
152 2 4 4 1
153 1 3 1 2
154 3 2 4 1
155 3 3 3 3
156 2 3 4 4
157 2 3 3 3
158 2 3 1 3
159 1 3 4 2
160 2 3 3 2
161 1 1 1 2
162 1 3 4 3
163 2 3 3 2
164 2 1 4 1
165 1 3 2 2
166 1 2 4 1
167 2 3 1 4
168 2 4 3 1
169 3 1 2 4
170 3 4 4 2
171 1 3 3 1
172 2 3 1 4
173 2 2 1 2
174 4 4 4 1
175 2 1 2 4
176 3 4 1 1
177 2 2 1 3
178 4 1 4 1
179 4 4 2&3 2
180 2 3 1 4

WW XX   YY ZZ

1 1 3 1 1
2 4 4 2 4
3 3 3 1 1
4 1 2 4 1
5 3 3 3 1
6 3 2 4 1
7 3 4 1 1
8 3 3 4 1
9 2 2 1 3
10 1 4 1 1
11 4 3 1 1
12 2 2 2 3
13 1 3 2 1
14 2 1 4 4
15 2 3 3 1
16 2 4 1 2
17 4 2 4 3
18 2 1 3 2
19 2 3 2 1
20 4 2 1 1
21 2 4 1 4
22 1 4 4 2
23 2 3 4 3
24 3 1 3 2
25 4 4 2 4
26 3 4 1 3
27 2 3 4 2
28 2   1&2 4 1
29 1 4 4 1
30 3 1 3 3
31 3 4 3 4
32 3 2 3 3
33 1 4 1 2
34 4 3 4 3
35 3 4 4 1
36 2 3 4 4
37 2 1 3 2
38 4 2 3 4
39 1 1 2 3
40 4 1 4 2
41 3 4 4 4
42 4 4 2 2
43 2 4 1 2
44 1 1 1 2
45 3 4 1 2
46 3 1 4 1
47 2 1 3 1
48 1 3 4 1
49 3 2 3 4
50 2 4 4 4
51 1 3 4 3
52 2 2 4 1
53 4 1 3 1
54 2 4 3 3
55 3 4 4 2
56 1 3 4 2
57 4 3 1 2
58 2 2 1 2
59 1 1 3 3
60 3 4 4 2
61 3 3 4 1
62 2 3 2 4
63 4 3 4 1
64 3 2 1 2
65 3 2 4 1
66 2 2 2 2
67  1& 4 4 2 2
68 3 3 4 2
69 4 3 3 3
70 3 3 3 3
71 1 2 4 1
72 3 2 1 4
73 2 1 3 2
74 3 3 3 1
75 2 3 2 4
76 4 1 2 3
77 1 4 4 2
78 4 4 4 2
79 4 4 3 1
80 3 4 1 1
81 3 1 4 4
82 3 4 1 3
83 4 3 4 2
84 3 2 3 1
85 2 3 2 1
86 3 4 3 1
87 2 3 1 4
88 1 4 1 4
89 2 4 4 4
90 1 4 4 2
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